352 CT 352

U, Ug | 1o |, Upe { Par | Po | Py
T. Cl. ‘
VoIV [ mAmA vV WwWw
750 | —175 | 90 | 20 300 | 55 | 4
C.Tgr |[1000 | —200 90 1175 | 325 | 5 58
1250 | —-225 | 90 | 15 350 | 45 | 75
1250 ; —400 | 100 | 20 maximum 50
CTIf 750 | —290 | 90 | 20 45 | 75 |42
DET 12 MOGI 1 | 7,51 315 || i q 111000 —310 | 90 {175 | 435 65 |58
3 B/504 A STCE| 2 |7,5| 3,25 1000 | —400 | 100 | 20 maximum 35
3 B/504 B STCE, 3 | 7,5| 325 750 | — 70 | 50| 1 90 | 33 l 11
834 int | 4 1757 31 BTir |]1000  — 90 50 05, 100 | 31 | 16
1250 | —115| 50| 0 . 115 |3 | 20
1250 100 | maximum 50
stat 1000 $=1,9 mAIV; u=10,3; R;=54 kQ 50
: 1250 (f=200 MHz) maximum | 50
! C-Tgr 1500 | —140 | 135 | 18 { | 55 150
0QQ 55/1500 iTu 517503 ] CTI 1200  — 60 | 85. 5 !(A-Mod) | 1,5 | 65
0OQQ 5615001 Tu 4175 3 || cTHi 1500 | — 75| 52| 1 |(G-Mod) | 1,5 | 25
! |V stat. 1500 | maximum (§=2,2 mA[V; u=20:f=60MHz) | 55
'} OQQ 56/15C0; Ug(moax) = 1750 V; f(max) =75 MHz
Equivalents
! ] BW 11 amer = 834 1350 G2 Eim = 834
Co | Co ! Cypo .
T. RK 32 Ray = 834 304 A WE = DET 12
oF | pF | pF T 7150 Mul = DET 12 | 304 B WE = 834
TB1/60 A Phl = DET 12 | 4304 B  STCE = 834
TB 1/60 G Phl = 834 4304 BB STCE = DET 12
TD:THZJ A ;12 3’3? ;8 TSW 50/A Cos = DET 12 | 4304 CA STCE = 5 BJ504 A
TB 1760 B 22 1075 | 28 TY 1-50 Mul = DET 12 | 4304 CB STCE = 5 BJ504 B
834 72 |06 | 26 UH 50 amer = 834 4304 CBX STCE = 5 BJ504 B
' ’ ’ 3T50 Maz = 834 8019 RCA = DET 12
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